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ECRITURE SCIENTIFIQUE - http://www. toupty.

com Classe de 4°¢

Exercice 1

Compléter par le nombre qui convient :

»1. 5409x .. = 0,000005409 »3.
»2. 6,508% ....... = 0,065 08 »4.
Exercice 2

Compléter par le nombre qui convient :
»1. 5021x ...... = 5021000 »3.
»2. 0,02106 = 2,106% ....... »4.

Exercice 3

Compléter par le nombre qui convient :

»1. 8099000 = 8,099x% ...... »3.
»2. 5,027X ....... =0,05027 »4.
Exercice 4

Compléter par le nombre qui convient :
1. 7,024%x ........ = 702400 »3.
»2. 2707 =2,707X .......... »4.
Exercice 5

Compléter par le nombre qui convient :

»1. 2014x ........ =0,2014 »3.
»2. 0,000003029 = 3,029x .. »4.
Exercice 6

Compléter par le nombre qui convient :
»1. 80640 = 8,064 ......... »3.
»2. 6,078x .......... = 607,8 »4.
Exercice 7

Compléter par le nombre qui convient :
1. 430000 =4,3X .......... »3.
»2. 8,092x ..... = 80920000 »4.

8,022% . ... = 0,000 080 22
1,043% ... = 104300000
8,06% ...... = 80600000
0,4035 = 4,035% ........

T6=T706X...............
9,705 .......... =970,5
9,904% .......... =9904
6,9% ...... = 690000000
3,015% .... = 301500000
4,04%........ = 4040000
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0,000 005804 = 5,804 ..
7,073 .... = 707300000

50050 = 5,005% .........
2035000 = 2,035 ......

8,054% . ..vii.. = 80,54
TOLIX .oven. = 70,11
THX enn .. = 0,000 075
0,0009603 = 9,603x . ....

59090 =5,909% .........
0,06092 = 6,092 .......
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